
  is 0852 #  Expanded Dictionary Study

  is 0852 # aphanes {af-an-ace'}; from 1 (as a negative
particle) and 5316; non-apparent): -- that {is} not manifest.[ql

  manifest 0852 # aphanes {af-an-ace'}; from 1 (as a negative
particle) and 5316; non-apparent): -- that is not {manifest}.[ql

  not 0852 # aphanes {af-an-ace'}; from 1 (as a negative
particle) and 5316; non-apparent): -- that is {not} manifest.[ql

  that 0852 # aphanes {af-an-ace'}; from 1 (as a negative
particle) and 5316; non-apparent): -- {that} is not manifest.[ql
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